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IMPORTANT INSTRUCTIONS TO CANDIDATES

_ (Candldates are advised to read the following instructions carefully; before answering on the OMR answer sheet.)
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12.
13.

14.
15.
16.

17

. Ensure that you have entered your Name and CET Number on the top portlon of the OMR answer sheet.

ENSURE THAT THE BAR CODES, TIMING AND MARKS PRINTED ON THE OMR AN SWER SHEET >
ARE NOT DAMAGED/ MUTILATED / SPOILED.

ThlS Question Booklet'is issued to you by the 1nv1g11ator after the’ ond Bell i e., after 2. 35 p.m. }
Enter the Serial Number of this question booklet on the top portion of the OMR answer sheet. - o e

Carefully enter the Version Code: of this question- booklet on the bottom portlon of the OMR answer sheet and
SHADE the respective circle completely

_As answer shéets are de51g'ned to suit the Opt1ca1 Mark Reader (OMR) system please take spec1al care while . %
filling and shading the Version Code of thls question booklet. o (Vl

DO NOT FORGET TO SIGN ON BOTH TOP AND BOTTOM PORTION' OF OMR ANSWER SHEETIN ;

THE SPACE PROVIDED.
Until the 37 Bell is rung at 2.40 pm. :
® Do not remove the staple present on the rlght hand 51de of this questlon book]et
® Do not look inside this question booklet.
@ Do not start answering on.the OMR answer sheet.

\ .

After the 37 Bell is rung ‘at 2.40 p.m., remove the staple present on the right hand side of thls question booklet
and start answering on the bottom portlon of the OMR answer sheet. . :

This questlon booklet contams 60 questions and each questlon will have four dlfferent optmns / cholces.
During the subsequent 70 minutes : ' ’ : ’ ’

* ®  Read each question carefully. -
® Determine the correct answer from out of the four avallable options / ch01ces given under each questlon

e Completely darken /shade the relevant circle with a BLUE OR BLACK INK BALLPOINT PEN 2
against the questlon number on the OMR answer sheet.

CORRECT METHOD OF SHADING THE CIRCLE ON THE OMR SHEET ISAS SHVOWN BELOW :

golel 1%k

_Please note that even a minute unintended ink dot on the OMR sheet w111 also be recognised and recorded hy the v
scanner, Therefore, avoid multiple markings of any kind. : - :

.

Usé the space prowded on éach page of the questlon booklet for Rough work AND do not use the OMRE answer
sheet for the same. ) R .

" After the last bell'is rung at 3.50 p.m., stop w.rltlng on the OMR answer sheet
Hand over the OMR ANSWER SHEET to the room invigilator as it is. .

After separating and retaining the top: sheet (CET Cell Copy); the 1nv1gllabor wﬂl return the bottom sheet réplica
(Candldatc s copy) to you to carry hoime for self-evaluation.- .

' Preserve the rephca of the OMR answer sheet for a mmlmum pe_rlod of On,e year.
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CHEMI’STRY

)
1. Wh1ch of the followmg is not an ore of magnesmm ?.
1) Carnallite ' ’ - 2) Dolom1te
-'3) ~ Calamine .~ 4) Seawater

% ' The atomic¢ numbers of Ni and Cu.are 28 and 29 respectwely The glectfon configuration
13 252 2p 352 3p 3d10 represents ’ ~ e o

v o mae

N . O N

3. Inthe followmg, the element with the hlghest 1on1sat10n energy is

1) [Ne]3s® 3'p, S 2 [Nelss? 3p°
3) [Nel3s?3p® . - 4) [Nel3s?3p*
s e . " 5. | . ’ . LV .

4. » I-nthevconversion of sz to | BrO;3 , the oxitlation number of Br changee from
‘ 1) zeroto+5 - 2 +1to+b5 -
n 3) zeroto—3 o -_' o 4) +2',to-0'-‘5
5. - Among the alkah metals cesxum is the most reactlve because |
D its 1ncomplete shell i is nearest to the nucleus '
- 2) ithas a single electron in the valence shell

_ 3. it i is the heav1est alkah metal

4) the outermost electron is more loosely bound than the outermost electron of the
~ other alkali metals. \

. (Space for Rough Work)
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1),<N Nz : Uy iNs‘Nx' |
3) igv”—ﬂzxv":: 4 N = N3
7.. " Hydrogen bond is strongest in .
) S-H-—0 2 O-H-—-8
3) FaH-uF - 4) O=H - N

8. The decomposmon of a certain mass of CaCO gave 11 2 dm of CO gas at STP The mass
of KOH required to completely neutralise the gasis .

. 1).56g ‘ ... 2) 28g-
3)42g"'g '4)20g.

o
s

9. ,The den51ty ofa gas 1s1964gdm‘3 at 273 k and-76 cm Hg The gas is
1) CH, a o 2 CH,
'3) co, - L 4) Xe

10. " 0.06 mole of KNO, solid is added to 100 ¢cm3 of water at' 298 k. The enthalpy of KNO
'_solutlon is 35 8 kJmoI‘ After the solute is dlssolved the temperature of the solutlon w111 be -

9 '-30‘1.1{ ) 304.k_
‘(SI‘)_’ace for Rough Work)' -
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11.

5 "_A-l"

, , , - -
4 moles each of SO, and O gases are allowed to react to form SO, in a closed vessel. At

equlhbnum 25 % of 0, is used up The total number of moles of all the gases present at
 equilibrium is ' o - R ' ‘
1) 65 2 10
3)-80 v S 4) 2.0 -
12. An examole for'autocatal‘ysis is - |
| 1) oxidation of NO to NO, '
92 ox1dat10n of SO, to SO
3 decomposmon of KClO to KCl and o,
4 omdatlon of oxalic aC1d by ac1d1ﬁed KMnO
.13, Dumng the fusion of an- orgamc compound w1th sodmm metal mtrogen of the compound is
S convertedlnto o o o S S
) NaNO SR o). Na_‘NHé
8 NeCN .-~ . 4 NaNC
14 Tdentify the .produot_ Yin -fhe following reaction _se_qp‘enc'e | -
- CHy-CH4-COO . . “
o _ N . heat . Zn-Hg .
R co. o Le X —HCT, heat 7~
CH2 '-cH2 = coo
1) pentane SR - 2) cyclobutane
) cyclopentane : 4) cYclOpehtanone
15. I‘he reactlon CZH 5ONa +C2H 5I —>C2H 5002H 5 +NaI is known as o
1) Kolbes synthesis - 2) Wurtz’s synthes1s .'
3) Williamson’s synthesis ~ 4) Grignard’s synthesis
_ ("Slvjac_e for Rough Work)
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16.
17.

- 18.

19,

20,

. G° Vs T plot in the Ellmgham S d1agram slopes downwards for the reaction -

. 1) Mg+102—>Mg0 ) 2Ag+ 02—>Ag20
-.;3) C-+~102’—>CO Sy co+1 02——>002

Wh1ch of the followmg reactlon takmg place in the Blast fur ‘nace is endothermlc ?
1) CaCO4 —Ca0 +co2 RS 21 2C +02 -2C0

- 3) C+O —)CO Lo 4) FeO +3(’O—>2Fe+3CO
' 2 2 2Y3 2

' quuor ammoma bottles are opened only after coohng ThlS is because

1) iti isa mild explosive -~ 2) 'it s a corrosive liquid-
- 3) iti Is a lachrymatory S 4) it generates h1gh vapour pressure

The formation of Og [P, Fg] is the basis for th_e fofmation of Xenon fluorides. This is because
‘1) 0, and Xe have comparable 51zes |
2). both O and Xe are gases

3).0, and Xe have comparable 1omsat10n energies

4) 0, and Xe have comparable electronegat1v1t1es
The hlghest magnet1c moment is shown by the trans1t10n metal ion w1th the conﬁguratlon
D 8d2 gy 3d5'

e eg? 9 3a9

.~ (Space for Rough Work'):

8
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21. °A tran51t10n metal jon exists in its hlghest oxidation state. It is expected to behave as

1) achelating agent ' ) a central metal in a coordmatlon compound
3) an ox1d1s1ng agent “ 4) a reducmg agent '

22, In Whlch of the followmg complex ion, the central metal ion isin a state of sp3d2 hybndlsatlon ?

v jen DD oot
3) [Fe(CN)] L . K ['Cr(vNHSI)-]sf |
23. ‘Whlch of the followmg can partlclpate in 11nkage 1somerlsm‘7 A ‘ --_q‘
1) NOy© BN H2NCHZCH2NH2W" o
3 Hy0 PR 4 :NHg |
24. Which of the féllovy'inghas the_higheet bond order.? _ coLT o f;
o uw mo o
3) He, o 4 Hy
95. Which of the following is diamagnetic ? )
. ;,1) By o -l , | ‘- 2) 02 N
Y Ly o o 0 Hey'
‘ »(VSpace.f__or RoughWork) e S
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26.

27..

- 28.

29,

30.

8 . aa

The concentration of zi» reactaht X decreases from 0.1 M to 0.025-M in 40 minutes. If thé
reaction follows I order kinetics, the rate of the reaction when the concentration of X is
001 Mwillbe o B o Lo
D 1mx10*Mmin . 2) ‘g7 x10™*M min™!

L

T3 847x10%Mmint . 4) 173 X107 M min™t

\

‘ Chéinical régctions \,;vith:w}ery highE_ values are generally

1) veryfast . \ 2) veryslow
3) moderately fast e 4) spontaneous -

Which of the following does n6t conduct electricity ? - |
1) fused NeCI -~ = = - 2) ‘solid NaCl
- 3) -brineﬁa'so‘lut-ion B ‘ . .4).- ‘Copper
When a quantity of eléctricity is passed-through CuSO;solutioh,' 0.16 g of Coppéf gets -
deposited. If the same quantity of electricity is passed through acidulated water, then the ‘
volume of H, liberated at STP will be [Given At.Wt. Cu = 64] ' SRR
D740em® ) 5gem?
3) 604em® . 7 4) 80em®

i

Solubility product of a salt AB is'1 x 108 MZ in a solution in 'whiCh,‘th'é concentration of A*

ionsis IO_‘-'3 M. The salt will precipitate when the éoncentration of B~ ions is kept

"1 between10®Mto 10'M - 9) between 107" M to 106 M
B S0SML T g cagem ’
(Space for Rough Work)
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*31.7: Which one of the followmg condltlon will increase the voltage of the cell represented by the .
“~equation : Ciig) + 2Ag o= = Cu’*qq + 2Ag(s) ' - - |

\ 1) 1ncrease in the dlmenswns of Cu’ electrode
2) increase in the dJmensmns of Ag electrode
3 increase in the concentrat1on of Cu?* ions
}'4) increase in the concentratlon of Ag+ ions

| 32. . The pH of 10‘8 M HCI solution is - ‘ -

1) 8. N _ ' 2)- 'rnore"th'anS
" 3) between 6 and 7 o ‘ 4) shghtly more than 7.

33, The mass of glucose that should be dissolved in'50 g of water in order to produce the sameé -
lowering of vapour pressure as'is produced by d1ssolv1ng lg of urea in the same quant1ty of -

e
-

-waterls o C ‘
P g D 3g .'

' 34. - Osmotic pressure observed when benzoxc ac1d is d1ssolved in. benzene is’ less than that
expected from theoretical considerations. This is because

1) benz01c ac1d is an organic solute o
2) benzoic acid has higher molar mass than benzene L
3) benzoic acid gets associated in benzene '

4) benzow acid gets dlssoc1ated in benzene

| 35. Fora reactmn to be spontaneous at all temperatures

: 1) AG and AH should be negatlve o2) AG and A H should be pos1t1ve
3) AG = AS = L 4 aAH<AG |
. (Space _for Rough Work) -
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36.

37.

38.

-39,

d0 0 Aaq

‘.Whmh of the followmg electrolyte w1ll have maximum floce ulatlon value for Fe(OH) sol ?.

1) NaCl - : ~2) Na,S
3 WH),PO, 4 K,S0,

For a relleréiblé reaCtiOn : X( ) + 3Y( ) =, ZZ(g)

" AH =-40kJ the standard entrop1es of X, Y and Z are 60, 40 and 50 JK1 mol? respect1vely

The temperature at which the above react1on attalns equ111br1um is about
1) 400K : L 2) 500K '
E 213K i | . 4 313K .

The radn of Na and Cl lons are 95 pm and 181 pm respectlvely The edge length of NaCl
unit cell is : . :
U 206pm .~ . 2 138pm S
3) 552pm . 4 415pm .

Inductive effect involvles - _ ) .
'_ 1) displacement of ¢ electrons - 2) delocalisation of n electrons
3) : delocaliSation of o electrons - 4) displacement of 7 electrons
40. The basicity of aniline is less than that of cyclohexylamme ThlS is due to
1) +R effect of — NH group - - 2) -1 effect of - NH, group
3) —R effect of - NH, group 4) hyperconJugatlon effect
o (Space for Rough Work)
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c 1 Al
- 41. ; Methyl bromide is com}erted into ethane by heetjng it in ether mediﬁm with - - Lo
' 1) - Al ‘ I 2) Zn '

3 Nao . - L 4)° Cu

42, Which of the followmg compound is expected to be opt1ca11y active 7
1 (CH;),CH CHO = R CH3CHZCH20HO o
3) CH3 CHZCHB" CHO T 4) CH3' CH, CB,rchO

43. Whlch cycloalkane has the lowest heat of combustion per. CH 9 group ?

1) cyclopropane ‘ _ . 2) cyclobutane

3) cyclopentane' IR 4) cyclohexane A

44. The catalyst used’m the preparatlon of an alkyl chlonde by the act1on of dry HCl on an

alcohol is : _
1 anhydrousAlCl o 2) FeCly
3) anhydrousZnCl, 49 Cu

45. "In the reaction.

alcohollc dLlute : o R
_the product B'1 is , : o ' '
- 1) alkyl chloride 2) aldehyde
3) carboxylic acid '_; 4) ketone o ' N
.- _' - (Space for Rough Work) ‘
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- 46. Which of the followmg compound would not evolve CO when treated with NaH Co, solution ?
: 1) salicylie acid ) phenol
3) _benzolc ac_1d - - 4) 4 mtro benzoic aC1d
47. By heatlng phenol with chloroform in alkah it is converted into |
1) sahcyhc acid’ : ' 2). s'ahcylaldehyde
.3) amsole o " - 4) phenyl benzoate o
'48. When a mixture of calcium benzoate and calc1um acetate is dr dlstllled the resultlng
,‘compound is , Lo o
1) acetophenone Lo 2) benzaldehyde
3)' benzophenone o o . 4) acetaldehyde
49 Whlch of the followmg does not give benzoic acid on hydrolys1s ?
' Ry phenyl cyanide ... - .- 2) benzoyl chlonde
_ 3) benzyl chloride’ S g 4) methyl benzoate .
- 50. Whlch of the followmg would undergo Hoffmann reactlon to glve a pnmary amine ?-
0 .
o
1) R-C-CI IR 2) RCONHCH3 ‘
3) . RCONH, S 4 RCOOR . o
(Space for Rough Work)
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' 51,\5._G1ucose contams in add1t10n to aldehyde group
' " 1) one secondary OH and four primary OH groups '
- 2) one primary. OH and four secondary OH groups
'3) two primary OH and three secondary OH groups
- 4) three prlmary OH and two secondary OH groups o

_ C
52. A d1st1nct1ve and charactemstlc functlonal group of fats i is .
1 a peptide group -~ . . 2) an ester group
_ 3) an alcoholic group o ' 4) aketonic group B
.. 53. At pH 4 gIYClne emsts as | . '
D H3N—CH2 —coo.°" S 2) H3N-CH;-COOH

3) H,N-CH,-COOH . 4 HN-CH;-CO0"

- 54. Insulin reguiates the metabolism of o
1) minerals - L 2 amino acids
3) glucose ' .. .- 4) vitamins

55. The formula mass of Mohr’s saltis 392. The i iron present initis ox1d1sed by KM n0,in ac1d '

medium. The equlvalent mass of Mohr’s salt is
)

- 1) 392 B . 2) 316 .
3 2718 . . o 4) 156

| _;,, L , 4".(S;pa‘ce for Rough Work)
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56. The brown ring test for nitrates depends on
. 1) thereduction of nitrate to nitric oxide
' 2) oxidation of nitric oxide to nifrogen dioxide
3) reduction of férroUs'suiphaf_:e toiron -
4) oxidising acﬁoh, of sulphuric acid

57 Acrolein test is positive for . L
1) polysaccharides o ; 2) proteins
-3) oils and fats~ : . 4) reducing sugars
' 58. An organic compound which produces a bluish green coloured flame on heating in presence -
of copper is o E ‘ S S ' : ‘
1) chlorobenzene - o ' . 2) berizaldghyde
3) é.niline I  4) benzoic acid
59.- For »;1 reaction A +Bv'_>C +D if the concentration of A is doubled without altering the
.concen_ti'ation of B; the rate gets-doubled. If the concentration of B is increased by
‘nine times without altering the concentration of A, the rate gets tripled. The order of
the reaction is A L : :

T

60. Which of the following sélutiohs‘will exHibit highest boiling point ?
. p oo M'Nazso4(' . 9) 0.01 M-KNO,
co A ag o

) )

' 3)' 0.015 M urea . 4) "»OT=QI5M glucose(aq')

. o " (Space fof-Rough Work)
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